odd + odd = even

For example: 


the number 9




the number 5

Both 9 and 5 are odd numbers – in the pictures above they have an unpaired “block”.  When they are added together, however, the two unpaired “blocks” become paired, making an even number.

You can imagine that the number on the left could be extended to the left by adding more and more pairs of blocks, so it could represent any odd number.  Similarly, the number on the right could be extended to the right by adding more pairs of blocks, so it too could represent any odd number.  Of course, both could also be reduced to make smaller odd numbers.  

Therefore, any two odd numbers could be pictured like this so any two odd numbers added together will always make an even number.

